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Enrollment No: Exam Seat No:

C.U.SHAH UNIVERSITY
Winter Examination-2018

Subject Name : Fluid Mechanics
Subject Code : 2TEO3FMS1 Branch: Diploma (Mechanical)
Semester : 3 Date: 27/11/2018 Time : 02:30 To 05:30 Marks : 70

Instructions:
(1) Use of Programmable calculator & any other electronic instrument is prohibited.
(2) Instructions written on main answer book are strictly to be obeyed.
(3) Draw neat diagrams and figures (if necessary) at right places.
(4) Assume suitable data if needed.

Attempt the following questions:

a) The value of the compressibility of an ideal fluid is

a) zero b) unity c) infinity d) more than that of a
real fluid
b)  Which one of the following is the unit of density?
a) kg/m® b) kg/m? ¢) kg/m d) kg/ms
c) Which one of the following is not a unit of dynamic viscosity?
a) Pa-s b) N-s/m? ¢) Poise d) Stokes

d) The pressure at a point in the fluid is 4.9 N/cm2. Find height when the fluid under consideration
is in oil of specific gravity of 0.85.

a) 5.83m b) 11.66 m c)17.49m d)8.74m
e) Continuity equation is

A) Q=AV B) Q=AV? C) Q=A?V? D) None
f)  “Intensity of pressure is equal in all directions”. Which law is this?

A) Euler’s law B) Bernoulli’s law C) Pascal’s law D) None
g) Velocity head=?

A) pgh B) mgZ C) 0.5mv? D) None

h) A manometric liquid should suitably have
a) Low density & Low  b) Low density & c) High density &  d) High density & low

Vapour pressure High Vapour high Vapour Vapour pressure
pressure pressure
i) Which is the cheapest device for measuring flow / discharge rate.
a) Venturimeter b) Pitot tube ¢) Orificemeter d) None of the above
j)  “The velocity of entrance and exit through a nozzle remains the same.” Is this ever possible?
a) only if the flow is b) only if the flowis  c) only if the flow  d) never possible
compressible laminar is rotational
k) When flow rate is constant then the type of flow is........
A) Steady flow B) Uniform flow C) Compressible D) None
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What is an ideal fluid?
A) A fluid which has B) A fluid which is C) A fluid which D) All of the above

no viscosity incompressible has no surface
tension

A study of fluid in motion is known as

A) Fluid statics B) Fluid dynamics C) Fluid D) None
kinematics

Which of the following is pressure measuring device?

A) Tachometer B) Thermometer C) Manometer D) None

Attempt any four questions from Q-2 to Q-8

Q-2

Q-5

Q-6

Q-8

(A)
(B)

(A)
(B)

(A)
(B)

(A)

(B)

(A)
(B)

(A)
(B)

(A)
(B)

Attempt all questions

Define the terms: (1) Density, (2) Specific Volume, (3) Specific gravity (4)Compressible fluid,
(5) Incompressible Fluid (6) Specific Weight (7) Adhesion

Explain working of U — tube manometer with neat sketch.

Attempt all questions

Define Fluid and explain different types of Fluid.

Derive equation for discharge through Rectangular notches or weirs.

Attempt all questions

Explain working principle of pitot tube with neat sketch & derive equation for velocity.
State and prove the Pascal’s law. Also mention its application.

Attempt all questions

The pressure intensity at a point in fluid is given 5 N/cm?. Find the corresponding
height of fluid when fluid is (i) Water (ii) oil of Specific gravity = 0.80 and (iii)
kerosene of specific gravity = 0.74

Explain Impulse momentum principle and drive equation for it.

Attempt all questions

Explain working principle of Hydraulic Press with neat fig.

Explain briefly the working principle of Diaphragm Pressure Gauge with neat sketch.
Attempt all questions

Explain various types of fluid flow.

Write a short note on different form of energy.

Attempt all questions

Explain working principle of Hydraulic Lift with neat fig.

Water flows with pressure of 400 KPa from pipe of 200 mm diameter at a rate of 2.0
liters / second. If the pipe height is a 100 mm from the datum. Then find total energy
head.
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Attempt the following questions:

uULel Yaugloll AslAstetticlle] Hea A B

A) 9o ofl) Asd Al) Aol ) ardlAs yaudl
scll dy

ol Aottiiell 50 dotcll AsH B?

A) kg/m® oll) kg/m? A) kg/m 1) kg/ms
oA AURAHY 8IS As slaa@s (QS1{E] Asu o1ell?
A) Pa-s oll) N-s/m? Al) Qs IERE

Yall@lHi As (olg UR £wlbl 4.9 Nicm2 B. 2012 0.85 ofl Alss d3cclisyvloll dctHl yadl
Qe 3601 lat RUR GRUE M.

A) 5.83m o{l) 11.66 m ) 17.49 m ) 8.74m
Al yllsel -

) Q=AV oll) Q=AV2 ) Q=AN? 1) 5185 otel
" R ol eottglell dladl AMlat B, L SIUAEL g B2

W) Yol slAE ofl) sotllelloll stael  ll) urRscoll sl2A€l 1) 818 atel
AAREL &s =2

A) pgh o{l) mgz Al) 0.5mv? ) A o8l

As WAARSs ycdl Ao dla _ 8d wsA

A) oA Yotcdl A b) o{lAL Uotcll Aol ) G Uolcll A GRAU 1) GA dolcll U

ollal oursdletetst G s leiciet aimletatt sl o{lal st fletcloto
£0lBL £0lRL
Yalls / Al € Hiucll HIoll Al Ml Attt B,
A) AozylMeR o) Rae eyt A) ARG 818 o8l sl) GuAsHiel
A gl
"l Gl YA AR welR ollsncloll Aot As o ¥ B." 9 Ul LAURA AsA B?
A) %l yels AsRd (b) Yelts ARt c) HIAL Yalls N ESEDRIED
aa Al % aa Al % uRaHelld s Al otell
AR Yals €2 RAR A AR Yalsell YsIR ...... .
A) RAR yals ofl) ALt yas A) 51 sAl 3l) 8185 ot8l
ued yaudl g B2
A) As yaidl ® o oll) As yaudl ¥ A) As yadl % 1) GURASA M
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e{lotcl ol weledld ®

AWl et o1l

m) oAl Yaudloll ueud A 33 elldl ®

A) s¢48s wWilsU

N) oA el 5oL eotll Hiuet Gus:aL B?

) slleR oll) arlHlez

Q -2l Q-8 ytlall slFul R Ysllall YuA 53

Q-2

Q-4

Q-6

Q-8

(A)

(B)

(A)
(B)

(A)
(B)

(A)

(B)

(A)
(B)

(A)
(B)

(A)
(B)

olal Ysllell Y 830

ofl) 5485 staaPsa  ll) sqess BanRsy

) AWelHle:

) A &l

1) 818 o8l

ARAl callvARA 5 (1) Yotcll, (2) AlssU AEYH, (3) AlssU dcclisrul (4) 5100 Yeldl, (5)

wAol yatdl (6) QR coyet (7) Asdalet

YuUs WA A Y-2gol WollH{leq] 12l A1,

oltll Yslloll YAl 531

58S caAlvARd sA ua [QQAY ysiell sq8s Amcl.

AHUARY oAU AU AR GlRL Ul Alel HI2 uHls0L dlRal.

oltll Ysllell YA $3A

Yus BAU WA Lale eyoie] st RAsic AHAA Ul Aol 1R AHlswL AaAl.

RSl (A Al AR A(AA 530, Aoll Guolldtell uel Gedw 3.

olal Ysllell YAl 531

YalélHi As (gA eotal lddl 5 NemZualHi W B, w242 yaltdl o 2 yaudlsdl
Aol@d Qe QA (i) well (i) 18] QAR d3ccusyal = 0.80 wa (iii) 3AMloto] AssA

df3ccutsyl =0.74

Ut HlNeH Rgic el A Aetl W2 wHls0L A

oltl Ysllell YAl 531

Yus BAU WA sleAs Yuoll sl Raida Amesdl.

YuUs BAU AUA stadH YR Aoell stsi3l Rgical qumesdl.

oltll Yslloll YAl 53
QY ysRetl yaldl Yalsal AHsIA.
QAU ysiRetl G5t UR sl oll cull.
oltll Ysllell YAl 531

Yus BAU WA sleAs ([Aseq] 512l Rgld AxsAl

200 (A22 / Asesall €2 200 WHUH el weudll 400 3UlAeU eotatell well ad d. %
weuell Qe deuell 100 HlMl 8t ugdl st Gt &s 2Nl
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